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mΠ=640. MeV Hmass 17L
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mΠ=670. MeV Hmass 18L
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mΠ=690. MeV Hmass 19L
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mΠ=710. MeV Hmass 20L

æ

æ

æ

æ

æ

æ
æ

ææææææææææææ
æ

æ
æææææææææææææææææææææææ

æ
æ

ææææææææææææ
æ

æ

æ

æ

æ

à
à

à

à
à

à
à

àààààà
ààààààààààààààà

ààààààààà
ààààààààààààààà

àààààà
à

à
à

à

à

ì
ì

ì
ììììììì

ì
ì

ì
ì

ìì
ì

ì

ì

ì

ì

ì

ì

ì

ì

ì ì

ì

ì

ì

ì

ì

ì

ì

ì

ì
ìì

ì
ì

ì
ì

ììììììì
ì

0 10 20 30 40 50 60
0.00

0.01

0.02

0.03

0.04

0.05

0.06

t

ps
R

el
at

iv
e

E
rr

or

mΠ=740. MeV Hmass 21L
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mΠ=800. MeV Hmass 22L
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mΠ=1000. MeV Hmass 23L
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mΠ=1600. MeV Hmass 24L
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mΠ=2250. MeV Hmass 25L

æææææææææææææææææææææææææ
æ

æææææææææææææ
æ

æææææææææææææææææææææææàààààààààààààààààààààà

à

à

à
ààààààààààààààà

à

à

à

ààààààààààààààààààààììììììì
ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì

ì
ì

ì
ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì

ì
ììììì

0 10 20 30 40 50 60

-1

0

1

2

t

ps
R

el
at

iv
e

E
rr

or

mΠ=2800. MeV Hmass 26L
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mΠ=2900. MeV Hmass 27L
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mΠ=2979. MeV Hmass 28L
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mΠ=3050. MeV Hmass 29L
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